3 7 89 P 309
5
2
................................................................. 1
..................................................................... 1
------------------------------------------------------------------------- 1 1
10 s 1
f(x)
y=x2 x x=1 15
n 1 Sn
T, 2
O N fx) o |10
S
b n-1 0 0
If(x)dx: lim Zf(xk) X
a n—>cck:0 n 1
n k?==n(n+1)2n+1)
= lim Zf(xk) X kZ:;‘ 6
n—>cck:1 n-1 1
k?==(n-1)n(2n-1)
k=0 6
10
9
: [ 1 1 1 1)
S=1lim|—+——+——+ - +—
n—»ol N+l n+2 n+3 2n
22 10
. 1(. T . 27 . n;r)
lim =| sin—+sin—+:----- +sin—
n—oo N n n n
o T
P






